

# Republic of the Philippines Province of Benguet La Trinidad

Tel. Nos. (074) 422-4718 to 24 (Operator) / Telefax: (074) 422-5506



(Drugs, Medicine, Medical Supplies and Equipment)



#### INVITATION TO BID

1. The Bids and Awards Committee (Drugs, Medicine, Medical Supplies and Equipment)
Through its Regular Fund intends to apply the hereunder amount being the Approved
Budget for the Contract (ABC) to payment for the hospital projects:

Item No.	Projects	Approved Budget for the Contract (ABC)	Cost of Bidding Documents
1	PURCHASE OF MEDICAL SUPPLIES (PR NO. 2022-03-0635)	Php 1,568,621.00	Php 5,000.00

Bids received in excess of the ABC shall be automatically rejected during bid opening.

- 2. The BAC (DMMSE) now invites bids for the above stated projects. Delivery will be 14 days for upon receipt of Notice to Proceed. Bidders should have completed within three (3) years from the date of submission and receipt of bids a contract similar to the Project. The description of an eligible bidder is contained in the Bidding Documents particularly in Section II. Instruction to Bidders.
- 3. Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act". Bidding is restricted to Filipino citizens/sole proprietorships, partnerships, or organizations with at least sixty percent (60%) interest or outstanding capital stock belonging to citizens of the Philippines, and to citizens or organizations of a country the laws or regulations of which grant similar rights or privileges to Filipino citizens, pursuant to RA 5183.
- 4. Interested bidders may obtain further information from the **BAC** (**Drugs**, **Medicines**, **Medical Supplies** and **Equipment**) and inspect the Bidding Documents from Monday to Friday from 8:00 a.m. 4:00 p.m.
- A complete set of Bidding Documents in the form of Electronic Copy CD (Compact Disk) may be purchased by Interested Bidders starting March 30, 2022 April 12, 2022
   8:00 a.m. 5:00 pm and upon payment of a nonrefundable fee for the Bidding Documents as shown above.
- 6. The BAC will hold a Pre-Bid Conference on March 30, 2022, 9:00 a.m. at the BeGH staff dining and/or through video conferencing via Zoom Meeting which shall be open to prospective bidders.

PRE-BID CONFERENCE

Meeting Information: Meeting ID: 934 64027984
Password: BACHEALTH

7. Bids must be delivered to the Bids and Awards Committee on or before April 13, 2022, 8:00 AM Philippine Standard Time (PST). All bids must be accompanied by bid security in any of the acceptable forms and in the amount stated in the ITB clause 18.

#### Late bids shall not be accepted.

The bidder shall submit a Bid Securing Declaration

Or

Any form of Bid Security, in an amount not less than the required percentage of the ABC in accordance with the following schedule:

Form of Bid Security	Amount of Bid Security (Not less than the required percentage of the ABC)
(a) Cash or cashier's/manager's check issued by a Universal or Commercial Bank.	
(b) Bank draft/guarantee or irrevocable letter of credit issued by a Universal or Commercial Bank: Provided, however, that it shall be confirmed or authenticated by a Universal or Commercial Bank, if issued by a foreign bank.	Two percent (2%)
(c) Surety bond callable upon demand issued by a surety or insurance company duly certified by the Insurance Commission as authorized to issue such security.	Five percent (5%)

8. Bid opening shall be on April 13, 2022, 9:00 a.m. at the Staff Dining, Benguet General Hospital, La Trinidad, Benguet, Philippines and/or via Zoom Meeting. Bids will be opened in the presence of the Bidders' representatives who choose to attend at the address as stated. If to attend the Opening of Bids physically, no more than two (2) representatives shall be allowed.

Meeting Information: Meeting ID: 934 64027984
Password: BACHEALTH

- 9. The BAC (DMMSE) reserves the right to accept or reject any bid, to annul the bidding process, and to reject all bids at any time prior to contract award, without thereby incurring any liability to affected bidder or bidders.
- 10. For further information, please refer to:

#### FRIEDA G. CHINANGLAS

Head, BAC Secretariat

Tel No.: 074-422-4722 to 24 local 1102

Fax No.: 074-422-5506

Email adds. begh.bac@benguet.gov.ph

### Places of posting:

- BeGH BAC Bulletin Board
- Provincial Capitol Bulletin Board
- La Trinidad Municipal Bulletin Board
- Provincial Health Office Bulletin Board Baguio General Hospital BAC Bulletin Board
- Baguio City Hall Bulletin Board
- PHILGEPS

Approved by:

ATTY BRIAN J. CRISPINS BAC Chairman

## **PRICE LIST**

Item No.	Unit of measureme	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
		MEDICAL SUPPLIES			
4		AED pads, for pacing, Monitoring Cardioversion		40.000.00	
1	pc	(mindray beneheart D1, D2, D3, D5, D6)	1	13,200.00	13,200.00
2	рс	Airway, Oral, Size 40mm, Guedel type	10	66.00	660.00
3	pc	Airway, Oral, Size 50mm, Guedel type	10	16.50	165.00
4	рс	Airway, Oral, Size 100mm, Guedel type	10	16.50	165.00
5	bot	Alcohol, Ethyl, 70%, 500ml	288	104.50	30,096.00
6	gal	Alcohol, Ethyl, 70%, 1 gallon	40	550.00	22,000.00
7	gal	Antimicrobial liquid hand soap / antiseptic wash, 1 gal	8	440.00	3,520,00
8	box	Applicator Stick, wooden, with cotton tip, Sterile individually wrapped, 6" long, 100/box	10	165.00	1,650.00
9	рс	Arm sling, Small, w/ adjustable shoulder strap pad and foam	50	60.50	3,025.00
10	рс	Arm sling, Medium, w/ adjustable shoulder strap pad and foam	80	60.50	4,840.00
11	рс	Arm sling, Large, w/ adjustable shoulder strap pad and foam	80	60.50	4,840.00
12	roll	Bandage, Elastic, 2"x5 yards	60	22.00	1,320.00
13	roll	Bandage, Elastic, 3"x5 yards	72	27.50	1,980.00
14	roll	Bandage, Elastic, 4"x5 yards	72	33.00	2,376.00
15	roll	Bandage, Elastic, 6"x5 yards	48	49.50	2,376.00
16	рс	Bandage, Triangular, cloth, 37" x 37" x 52" or larger	60	110.00	6,600.00
17	pack	Bandage, Tubular net, 25meters, Size 1	1	1,320.00	1,320.00
18	pack	Bandage, Tubular net, 25meters, Size 2	2	1,320.00	2,640.00
19		Bandage, Tubular net, 25meters, Size 3	2	1,320.00	2,640.00
20		Bandage, Tubular net, 25meters, Size 4	2	2,750.00	5,500.00
21		Bandage, Tubular net, 25meters, Size 5	2	2,750.00	5,500.00
22	pack	Bandage, Tubular net, 25meters, Size 6	2	2,750.00	5,500.00
23	pack	Bandage, Tubular net, 25meters, Size 7	2	3,850.00	7,700.00
24		Bandage, Tubular net, 25meters, Size 8	1	3,850.00	3,850.00
25		Bandage, Tubular net, 25meters, Size 9	1	3,850.00	3,850.00
26	рс	Catheter, Foley, 2 way, Fr-8	10	55.00	550.00
27	рс	Catheter, Foley, 2 way, Fr-10	10	55.00	550.00
28	рс	Catheter, Foley, 2 way, Fr-14	20	55.00	1,100.00
29	рс	Catheter, Foley, 2 way, Fr-16	60	55.00	3,300.00
30	рс	Catheter, Foley, 2 way, Fr-18	80	55.00	4,400.00
31	рс	Catheter, Suction, Fr. 5, w/ thumb control	10	11.00	110.00
32	рс	Catheter, Suction, Fr. 8, w/ thumb control	10	11.00	110.00
33	рс	Catheter, Suction, Fr. 10, w/ thumb control	10	11.00	110.00
34	рс	Catheter, Suction, Fr. 12, w/ thumb control	10	11.00	110.00
35	рс	Catheter, Suction, Fr. 16, w/ thumb control	20	11.00	220.00
36	pc	Cervical Collar, Philadelphia type with trachea opening, Soft closed-cell foam material, Two-piece with velcro lock, Medium, 13-16"	2	2,750.00	5,500.00
37	рс	Cervical Collar, Philadelphia type with trachea opening, Soft closed-cell foam material, Two-piece with velcro lock, Large, 16-19"	2	2,750.00	5,500.00
38		Charcoal, Activated, 1 kg	2	7,150.00	14,300.00
39		Cotton buds, 200's/pack	20	104.50	2,090.00
40	рс	Coverall, Medical Grade, Disposable, Medium		495.00	0.00
41	nack	Cups with lid, Plastic, 20-30ml capacity, Disposable for specimen collection, 25's/pack	400	33.00	13,200.00

Page 1 of 5

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QΤΥ	ABC per Unit Cost	Total Cost (ABC)
42	gal	Descaler solution, Food grade, Non toxic, Non corrosive, 1gal	2	2,750.00	5,500.00
43	gal	Detergent, Enzyme solution cleaner, Low foaming, Ultrasonic cleaner compatible, Effective in the breakdown of blood, feces and mucous on medical and surgical instruments, 1 gal	12	4,400.00	52,800.00
44	рс	Diaper, Large, adult, disposable, 30-39" waist	180	33.00	5,940.00
45	рс	Diaper, Extra Large, Adult, disposable, 40-60" waist	150	33.00	4,950.00
46	pack	ECG electrode pads, Ag/AgCl sensor, Pedia, 50's/pack	1	715.00	715.00
47	pack	ECG electrode pads, Ag/AgCl sensor, Adult, 50's/pack	2	616.00	1,232.00
48	рс	Endotracheal Tube, w/ cuff, ID 7.0mm	30	38.50	1,155.00
49	рс	Endotracheal Tube, w/ cuff, ID 7.5mm	30	38.50	1,155.00
50	рс	Endotracheal Tube, w/ cuff, ID 8.0mm	20	38.50	770.00
51	рс	Face mask, 3 ply with ear loop, 99% bacterial filtration efficiency, disposable, 50's	250	49.50	12,375.00
52	рс	Feeding container with tubings, Enteral, 600ml	15	715.00	10,725.00
53	pack	Gauze pad, Unsterile, Precut, 28x24mesh, 8ply, 4"x4", 100's/pack	30	385.00	11,550.00
54	roll	Gauze roll, 28x24 mesh, Surgical 36"x100 yd/roll	24	1,100.00	26,400.00
55	box	Gloves, Examination, Nitrile, Powder free, Unsterile, Small, 100's	60	1,045.00	62,700.00
56	box	Gloves, Examination, Nitrile, Powder free, Unsterile, Medium, 100's	70	1,045.00	73,150.00
57	box	Gloves, Examination, Nitrile, Powder free, Unsterile, Large, 100's	70	1,045.00	73,150.00
58		Gloves, Surgical, Sterile, Disposable, Natural rubber latex, Powder free, thickness: finger tip=0.40-0.50 mm; palm=0.45mm, size 6.5, 50 pair/box	30	1,100.00	33,000.00
59	box	Gloves, Surgical, Sterile, Disposable, Natural rubber latex, Powder free, thickness: finger tip=0.40-0.50 mm; palm=0.45mm, size 7, 50 pair/box	30	1,100.00	33,000.00
60	box	Gloves, Surgical, Sterile, Disposable, Natural rubber latex, Powder free, thickness: finger tip=0.40-0.50 mm; palm=0.45mm, size 7.5, 50 pair/box	30	1,100.00	33,000.00
61	box	Gloves, Surgical, Sterile, Disposable, Natural rubber latex, Powder free, thickness: finger tip=0.40-0.50 mm; palm=0.45mm, size 8, 50 pair/box	20	1,100.00	22,000.00
62		Guide wire/Stylet, Fr.10	20	159.50	3,190.00
63	рс	Hot water bag, Rubber, 250ml	5	385.00	1,925.00
64	рс	Hot water bag, Rubber, 500ml	10	418.00	4,180.00
65	рс	Hot water bag, Rubber, 1000ml	5	495.00	2,475.00
66	pc 1	Infusion set, Micro drip: 60 drops/ml, Y-connector injection port, Luer lock fitting needle adaptor that allows easy and secure connection of needle or IV cannula, Sharp spike for better penetration of glass/plastic bottle, Dripping port provides constant precision drip over long duration/especially designed roller clamp for better flow control with a minimum length of 215cm soft PVC tubing ensures uniform flow rate with easy to open single peeled pack and pyrogen free, air vented spike	200	49.50	9,900.00

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
67	рс	Infusion set, Macro drip: 20 drops/ml, Y-connector injection port, Luer lock fitting needle adaptor that allows easy and secure connection of needle or IV cannula, Sharp spike for better penetration of glass/plastic bottle, Dripping port provides constant precision drip over long duration/especially designed roller clamp for better flow control with a minimum length of 215cm soft PVC tubing ensures uniform flow rate with easy to open single peeled pack and pyrogen free, air vented spike	300	49.50	14,850,00
68	pc	Infusion set, Volumetric, 60ugtts/ml, 200-225cm tube length with roller clamp and luer lock tip, 150ml calibrated burette, Needleless Y port	50	115.50	5,775.00
69	box	Injection port cap (Heplock), 100s/box	4	1,232.00	4,928.00
70	box	IV Catheter G-16, Without safety, With wings and Injection Port, 100's/box	1	1,650.00	1,650.00
71	рс	IV Catheter/Cannula G-18, Safety with wing, Automatic needle safety guard that covers the needle sharp bevel after withdrawal from hub, Kink resistant tapered and siliconized catheter, Injection port with cap, Latex-free	150	55.00	8,250.00
72	рс	IV Catheter/Cannula G-20, Safety with wing, Automatic needle safety guard that covers the needle sharp bevel after withdrawal from hub, Kink resistant tapered and siliconized catheter, Injection port with cap, Latex-free	100	55.00	5,500.00
73	рс	IV Catheter/Cannula G-22, Safety with wing, Automatic needle safety guard that covers the needle sharp bevel after withdrawal from hub, Kink resistant tapered and siliconized catheter, Injection port with cap, Latex-free	400	55.00	22,000.00
74	pc	IV Catheter/Cannula G-24, Safety with wing, Automatic needle safety guard that covers the needle sharp bevel after withdrawal from hub, Kink resistant tapered and siliconized catheter, Injection port with cap, Latex-free	250	60.50	15,125.00
75	рс	IV Catheter/Cannula G-26, Safety with wing, Automatic needle safety guard that covers the needle sharp bevel after withdrawal from hub, Kink resistant tapered and siliconized catheter, Injection port with cap, Latex-free	100	60.50	6,050.00
76	nc	IV extension, Minimum length of 14cm, Macrobore,	50	255.00	12,750.00
77		2way/Y-type with luer connection and slide clamps Lubricating jelly, 80 grams tube	20	110.00	
78	рс	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr.5	10	211.20	2,200.00 2,112.00
79	pc	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr.8	10	211.20	2,112.00
80	pc	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr. 10	10	211.20	2,112.00
81	pc	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr.14	20	211.20	4,224.00
82	pc :	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr. 16	30	211.20	6,336.00
83	pc a	Nasogastric tube, Silicone, Soft rounded tip for atraumatic introduction, 40cm tube length with plug, Fr. 18	30	211.20	6,336.00

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC)
84	рс	Nebulizer tube with mask, Pedia	50	44.00	2,200.00
85	рс	Nebulizer tube with mask, Adult	50	44.00	2,200.00
86	рс	Nebulizing kit with tee mouthpiece	100	38.50	3,850.00
87	box	Needle, hypodermic, disposable, G18 x 1.5", 100's/box	6	220.00	1,320.00
88	box	Needle, hypodermic, disposable, G20 x 1", 100's/box	6	220.00	1,320.00
89	box	Needle, hypodermic, disposable, G21 x 1", 100's/box	6	220.00	1,320.00
90	box	Needle, hypodermic, disposable, G23 x 1", 100's/box	2	220.00	440.00
91	box	Needle, hypodermic, disposable, G24 x 1", 100's/box	4	220.00	880.00
92	box	Needle, hypodermic, disposable, G26 x 0.5", 100's/box	4	220.00	880.00
93	рс	Oxygen Cannula, with tubing, Nasal, Neonate	30	22.00	660.00
94	pc	Oxygen Cannula, with tubing, Nasal, Pedia	50	22.00	1,100.00
95	рс	Oxygen Cannula, with tubing, Nasal, Adult	100	22.00	2,200.00
96	рс	Oxygen Mask, Neonate	20	55.00	1,100.00
97	рс	Oxygen Mask, Pedia	20	55.00	1,100.00
98	pc	Oxygen Mask, Adult	50	88.00	4,400.00
00		Oxygen Mask, Non-rebreather with plastic reservoir			
99	pc	bag, Neonate Oxygen Mask, Non-rebreather with plastic reservoir	20	198.00	3,960.00
100	рс	bag, Pedia	30	198.00	5,940.00
101	roll	Paper, Tissue, Kitchen towel, 2ply, Jumbo size, 60-80pulls or minimum of 140 sheets / roll	200	82.50	16,500.00
102	box	Plaster, Micropore paper, Hypoallergenic, Easy-tear tape with higher adhesion on damp and fragile skin, Tape will not damage skin with edema, swell or hematoma, 1"x10yards, 12's/box (Supplier may demonstrate offered product if necessary to satisfy enduser)	60	550.00	33,000.00
103	box	Plaster, Transparent polyethylene film, Bi-directional tear, 1"x10 yards, 12's/box	84	825.00	69,300.00
104	roll	Recording paper, ECG, 3 Channel machine, 63mm x 30m	80	330.00	26,400.00
105	roll	Recording paper, ECG, 3 channel machine, 80mm x 20m	50	385.00	19,250.00
106	roll	Recording Paper, Thermal Paper, Width-50mm	10	220.00	2,200.00
107		Recording Paper, Thermal paper, Width-57mm	20	220.00	4,400.00
108		Sterilant, Soaking solution, Ortho-Phthalaldehyde (OPA) solution, 75 days active solution, 1 gal	8	4,400.00	35,200.00
109	pack	Surgical cap/Mob Cap, Bouffant disposable, 100/pack	30	110.00	3,300.00
110		Suture, Chromic 2-0 with needle, Cutting, 75cm, 12's/box	6	550.00	3,300.00
111		Suture, Chromic 3-0 with needle, Cutting, 75cm, 12's/box	10	550.00	5,500.00
112	hox	Suture, Chromic 4-0 with needle, Cutting, 75cm, 12's/box	4	550.00	2,200.00
113	hov	Suture, Chromic 5-0 with needle, Cutting, 75cm, 12's/box	4	550.00	2,200.00
114	hov	Suture, Chromic 3-0 with needle, Round, 75cm, 12's/box	2	550.00	1,100.00
115	box	Suture, Chromic 5-0 with needle, Round, 75cm, 12's/box	2	550.00	1,100.00
116	box	Suture, Chromic 2-0 with needle, Double arm, Catgut, Absorbalble, 3.5metric, 36mm circle bodied needle 75-150cm, 12's/box	5	3,142.70	15,713.50

Item No.	Unit of measureme nt	TECHNICAL SPECIFICATIONS	QTY	ABC per Unit Cost	Total Cost (ABC
117	рс	Suture, Silk, 75cm length w/ 26mm, 3/8Circle, needle, Reverse cutting, size: 2/0	72	118.80	8,553.60
118	pc	Suture, Silk, 75cm length w/ 26mm, 3/8Circle, needle, Reverse cutting, size: 3/0	108	118.80	12,830.40
119	pc	Suture, Silk, 45cm length 16-19mm, 3/8Circle, needle, Reverse cutting, size: 5/0	108	220.00	23,760.00
120	рс	Suture, Polyglactin 910 (90% glycolide and 10% I- lactide) synthetic absorbable braided suture, Size 3-0 with antibacterial component, 70cm length with 24mm 1/2 circle small for skin cutting	36	423.50	15,246.00
121	рс	Suture, Polyglactin 910 (90% glycolide and 10% I-lactide) synthetic absorbable braided suture, Size 3-0 with antibacterial component, 70cm length with 26mm 1/2 circle round needle	36	385.00	13,860.00
122	рс	Syringe, Asepto with bulb, 50-60ml	50	99.00	4,950.00
123	box	Syringe with needle, disposable, 1cc, G26, 1/2", 100's/box	40	214.50	8,580.00
124	box	Syringe with needle, Disposable, 3cc, 100's/box	60	214.50	12,870.00
125	box	Syringe with needle, disposable, 5cc, 100's/box	20	214.50	4,290.00
126	box	Syringe with needle, Disposable, 10cc, 100's/box	40	308.00	12,320.00
127	рс	Thermometer, Digital axillary	50	88.00	4,400.00
128	box	Tongue Depressor, Sterile individually wrapped, 100s/box	40	385.00	15,400.00
129	box	Urine Collector bag, Pedia, 100's	4	412.50	1,650.00
130	vial	Water, Sterile for injection, 50ml	300	74.80	22,440.00
131	pack	Wipes, Antimicrobial, Chlorhexidine, Neutral PH for non-invasive medical devices, 100's/pack	20	935.00	18,700.00
100		MEDICAL ICS			0.00
132	pc	Chart container with spring, Aluminium, Short	20	500.00	10,000.00
133	рс	Commode chair, Removable commode bucket with cover, without wheels	4	4,455.00	17,820.00
134	рс	ECG electrode bulb, Rubber bulb with metal cup	12	475.00	5,700.00
135	pack	ECG electrode clamps, Color coded, 4's/pack	2	2,250.00	4,500.00
136	рс	Gown, Isolation, Microfiber cloth, Turtle Neck, Reusable, Washable, Small (Assorted colors)	30	620.00	18,600.00
137	рс	Gown, Isolation, Microfiber cloth, Turtle Neck, Reusable, Washable, Medium (Assorted colors)	60	620.00	37,200.00
138		Gown, Isolation, Microfiber cloth, Turtle Neck, Reusable, Washable, Large (Assorted colors)	30	620.00	18,600.00
139	unit	Negatoscope, Double panel with lights and x-ray film clips	1	14,500.00	14,500.00
140	unit	Panel screen, 3 folds, tubular frames with curtain, at least with height:60-65" and length:100-125"	8	9,600.00	76,800.00
141	unit	Sphygmomanometer, Aneroid, Gear-free DuraShock technology, Certified accuracy to +/- 3 mmHg, Integrated gauge and cuff, Gauge snaps directly into flexiport cuff for quick cuff changes, With flexiport nylon cuff size 11, Adult	8	6,650.00	53,200.00
142		Splint, Leg traction, Aluminum frame with nylon straps, Adjustable length, Pedia	1	8,000.00	8,000.00
143	nc	Splint, Leg traction, Aluminum frame with nylon straps, Adjustable length, Adult	1	8,000.00	8,000.00
144	unit	Utility cart, Stainless steel, 3 layers, Railings at all sides with wheels	3	14,202.50	42,607.50
ОТА	L				1,568,621.00